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50 SHEBR 66 6 2 38 38 HEE — 34 — T #3 — HY - HiF17 [J
50 SHEBR 66 22 1 4 4 RERE -6 — — ] #3 - Y - HiF17
51 HALEBH 66 6 1 9 9 HEE - 3 — T #3 — HY - HiF17 [J
52 EEEEBR 66 6 3 38 38 HEE - 33 — T #3 — HY - HiF17 [J
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53 SEEBA 66 6 2 33 33 HEE — 22 - T #3 — HY - HiF17 [J
53 SEEBA 66 22 1 — - HEE - - - - - AY — HiF17 <
54 FREBR 66 6 2 33 33 HEE — 20 - T #3 — HY - HiF17 [J
54 FREBR 66 22 1 — - HEE - - - - - AY — HiF17 <
55 EINEBR 66 6 2 38 38 HEE - 38 — T #3 — HY - HiF17 [
56 SRIEEE TR 66 6 3 30 30 REE - 29 — A #3 — Y - HiF17 [
56 SRALEE BT 66 22 2 28 18.5 HEE 0 14 - T #3 — HY - HiF17
57 SRINEEBFR 66 6 2 28 28 HEE — 28 — T #3 — HY - HiF17 [J
58 BIRE B 66 6 2 33 33 HEE - 33 — T #3 — HY - HiF17 [J
58 BIRE B 66 22 1 — - HEE - - - - - AY — HiF17 <
59 BRAEER 66 6 2 28 28 HEE — 20 - T #3 — HY - HiF17 [J
59 BRAEER 66 22 1 9 9 HEE 0 — — T #3 — AY - HiF17
60 I EER 22 6 1 9 9 HEE - 5 — T #3 — AY - HiF17 [J
61 VSLEBR 66 6 3 47 47 RERE — 37 — A #3 - Y - HiF17 [
61 VSLEBR 66 22 1 — - HEE - - - - - AY - HiF17 <
62 EZNEBH 66 6 2 28 28 RERE — 24 - T #3 — HY - HiF17 [J
62 EZNIEBH 66 22 1 — - HEE - - - - - AY - HiF17 <
63 PEHEBRH 66 6 2 33 33 HEE — 25 — T #3 — HY - HiF17 [J
63 PEHEBRH 66 22 1 — - HEE - - - - - AY — HiF17 <
64 BUREEBRR 66 6 3 47 47 BEE - 35 - ] #3 — — — — [
64 BUREEBRR 66 22 1 — - HEE - — - — - — - - <&
65 HRELEBH 66 6 3 47 47 BEE - 38 - ] #3 — — — — [
66 RELEMR 66 6 3 47 47 BAE — 47 — A #3 — — — — [
67 SEREBR 66 6 2 33 33 HEE — 22 - T #3 - = — - [J
67 SEREBR 66 22 1 — - HEE - — - — - — - - <&
68 TREBM 66 6 2 28 28 HEE — 14 - T #3 - = — - X4@
68 TREBM 66 22 2 15 5.5 HEE 0 — — T #3 - = — - X4
70 SHBEREBH 66 6 3 47 47 RER — 41 — ] #3 — — — — [
70 EELEES 66 22 1 — - HEE - — - — - — - - <&
7 N2 TEBR 66 6 3 47 47 BEE — 46 — ] #3 — — — — [
7 NZTEBR 66 22 1 16 16 HEE 0 — — T #3 — — — —
72 HELEBR 66 6 1 4 4 REE — 4 - AT #3 - — - - [
73 EREER 66 6 3 57 57 REE — 52 - ] #3 — — — — [
74 EINEBFR 66 6 3 42 42 BEE - 39 - ] #3 — — — — [
75 AL ER 66 6 1 4 4 RER — 4 — ] #3 — — — — [ J
75 AL ER 66 22 1 — - HEE - — - — - — - - <&
76 EAE—REHR 66 6 1 7 7 RERE - 3 — A #3 - Y - ENi%33,34 [
77 FERENEEHR 66 6 1 1 1 RER — 1 — ] #3 - Y - ENi%33,34 [ J
78 hBEBE 22 6 2 5 5 HEE — 1 1 T #3 - = — - [J
79 REBREE 22 6 1 5 5 HEE - 5 5 T #3 — = — - [J
80 FHBREE 22 6 1 4 4 BEE — 0 0 ] #3 — aY — #7722,3%107,108 [ J
81 —ARIE B 22 6 1 5 5 HEE — 0 0 T #3 — AY - #7522,3%107,108,109,112 | @
82 —RINE ZEEE 22 6 1 5 5 HEE — 0 0 T #3 — AY - #7522,3%107,108,109,112 | @
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